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A RIFT-a (3T T THY) / TECHNICIAN-B (RAC)

wge s wfshan o fopan o @ | % THTIT 21

Work done in polytropic process is proportional to

(@& nln-1 b))  nln+1)

() (m-1)/n d @+D/n

U T F R ueh (HRF) 2

Heat Rejection Factor (HRF) of a condenser is

(@) 1+COP (b)  1/(1+COP)

(c) 1+(1/COP) (d 1/Ccop

TG T Shifereh IIAH &

Critical temperature of air is

(@) -140.74°F (b) 140.74°K

(c) -140.74°C (d) 140.74°R

forwmer S % w9 #, B (FRad) =@ T I9ANT Y STt B
Capillary tube, as an expansion device is used in

(a) = w=ffes/ Domestic refrigerator (b) <@ %" / Water coolers

(c) A% ATIgETS / Room Air conditioners (d) 306 @4t / All of the above

HFC wfiae %1 3isi &fivm darsg (ODP) &

Ozone depletion potential (ODP) of HFC refrigerant are
@ 1 (b) 0.5
(c) 033 @ o

fr=fafea & & S-u1 w7 wd 27
Which of the following statement is TRUE?

(@) T Sfch 1 <oT gETa R 8 @ sa e g =iy /

The suction pressure of a refrigerant should be as high as possible
(b) TF weftash 1 <wv qae Rt @ % sa frm B sl

The suction pressure of a refrigerant should be as low as possible
(©) o weficreh 1 fAewret qama R & @ e aiftre B sl

The discharge pressure of a refrigerant should be as high as possible
(d) S =1 HE TE / None of the above
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10.

11.

12.

13.

SR A iR (JTEEAT 1% e 2) 3 G Iohd AT H GRERE ©
Change in entropy during a constant volume process (from state 1 to state 2)is

(@ MCylog(P1/P2) (b) MC,log (P1/P2)
(c) MC,log (T2/T1) (d MCylog (T2/T1)
AR = H, T8 Tod TEE @G Bt 2

In psychrometric chart, dry bulb temperature lines are

(a) W@Et/ vertical (b) &R /horizontal
(¢) oAEER / curved (d) < 1 K TE / none of the above

P & & F-a1 e we St faten AR saaeiie 27
Which of the following refrigerant is highly toxic and flammable?

(a) FEH-gR-3fFaTEe / Carbon dioxide (b) % /Freon-12
(c) I / Ammonia (d) e~ T3 -¥HiFaEs / Sulphur dioxide

S.|. gohrEat ¥, T o wefiad SRR 3
In S.L units, one tonne refrigeration is equal to

(@ 21KJ/min (b) 210 KJ/min

() 42KJ/min (d) 420KJ/min
mmwmﬁm,mﬁ(halide)ﬁmwﬁ # ufafda grft
The colour of the flame of halide torch in case of leakage of Freon refrigerant will change to

(a) S/ purple (b)  eshien g / bright green

(c) &q dien / dark yellow (d) o e / light blue

% 4FRRH (psychometric) W1 W, Th 3ferd wRftad ! Tyian ST §

On a psychometric chart, sensible cooling is represented as

(a) @< @/ Vertical line (b) &fc %@ / Horizontal line
(c) 3T Y@/ Inclined line (d) o9 Fi3 T& / None of the above
e g aiaeh arg sefe gomed ;|

A reduced ambient air cooling system has
(a) T YMaeH eaisd I T T /

One cooling turbine and one heat exchanger
(b) T Y ete R Q am fafmas /

One cooling turbine and two heat exchanger
(€ 2 e et i uw @ ol /

Two cooling turbine and one heat exchanger
@ & teer eafer ok 3w fafEe /

Two cooling turbine and two heat exchanger
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14.

15.

16.

17.

18.

19.

3t Tet % STaTgRe H, SR

In winter air conditioning, the air is

(a) 31 foma ST @ @i 79 R SmaT ¥/ Cooled and humidified

(b) 31 Tere ST ® ofR T Rde frar Sar @/ Cooled and dehumidified
(c) o9 foram e & iR 7w ke wmar 2 / Heated and humidified

(d) W forar smar B oft Tt Rrd ok ST 2 / Heated and dehumidified

AUSHRT A9 G9TeFaT (GWP) &
Global Warming Potential (GWP) is
@) COr% gt U Wfices argeea & fraet Somm 37 et 2, Sweh arifes o/
relative measure of how much heat a refrigerant trap in the atmosphere compared to CO,
(b) o et e # Rt s 3 et & e afegg

absolute measure of how much heat a refrigerant trap in the atmosphere

- (0) Y & gHE, T ik agHed & Rt Sel 2 Wt & 35 aif T /

relative measure of how much heat a refrigerant trap in the atmosphere compared to air
(d) IS % g, U Weftaeh T § fhat ot 3wt 2 sas arife T
relative measure of how much heat a refrigerant trap in the atmosphere compared to Ozone

T fiae & g =iy
A refrigerant should have

(a) 3= Faerieh foig ok i fig / High boiling point and freezing point
(b) 4= oftT =TT / Low thermal conductivity

(c) amsaor <t 3= W I / High latent heat of vaporization

(d) s @i / All of the above

e % gwardt fredror % SR st

During isothermal expansion of gas, internal energy

(@) =t 8 /Increases (b) et B /Decreases

(c) @R T & / Remains constant (d) SWwF F A T / None of the above

TRe] SRitaeR A, TR R |, qrew d Sfidereh # WG g% AT % THER 2

Type of evaporators generally used in house hold refrigerators, home freezers, beverage coolers etc
(a) I 3R =& AT / Shell and tube evaporator

(b) =i arF /Plate evaporator

(c) %7 a9 / Finned evaporator

(d) R Fuseh a9 / Bare tube coil evaporator

TF R11 seftas 1 @iy wrfer &

The chemical formula of refrigerant R11 is

(@) CHF (b) CCIF;s
- () CCIHF (d CCLF
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20.

21.

22.

23.

24.

25.

26.

wefisr womeht % Sidem Fueferl § g % a1 1 Tt g

Formation of frost in cooling coils of a refrigeration system can result in
(a) COP % wga / Increase in COP

(b) usfte gwar § FH / Reduction in refrigeration capacity

(c) foga @ua d %ft / Reduction in power consumption

(d) fermms ® %t / Reduction in wear and tear

T FHEE TG TEReE 0° C W ST T § 3R 3 300C W T w2l afe amsfea 00C ©
1200 KJ/min STaS0T T 2, dt foga @aa #2187

A Carnot refrigeration cycle absorbs at 0° C and rejects it at 30°C. If the cycle is absorbing
1200 KJ/min at 0°C, what is the power consumption?

(@) 22kW (b)  1.88kW
©) 131.87kW @ 118.8kW
T o R @

One ton of the refrigeration is
(@ 13T frgem | 309 faed I9 / cooling effect produced by melting 1 ton of ice
(b) 1% UMt H°CHTH 0°CT 24 9121 ® SHH 1 W91/ effect to freeze 1 ton of water at 0°C into ice

at 0°C in 24 hours
(c) NTP feufeal w 1 a7 ot 3 % &1 W / effect to produce 1 ton of ice at NTP conditions

(d) 19 % gua ¥, 1279 5 3e99 FA F1 794 / effect to produce 1 ton of ice in 1 hour time

32°F=
(@) 32°C - (b) 32K
(© 0°C (d 100°C

e weitaen! #, Rrefafea F- wfas, R12 1 @ @ g?
Which of the following refrigerants replace R12 in domestic refrigerators?

(a) Rl () R22
(c) RI41b (d Rl134a
TSR § TYh WA AR 2

Refrigeration cycle used in aircrafts is

(a) g FIe@A TEehe / Bell Coleman cycle

(b) kel ®= o grdtes dEfha / Single stage Vapour compression cycle
(¢) T wrAte usfra / Reverse Carnot cycle

(d) & = arq gwfieT @m3fea / Two stage vapour compression cycle

Tt yefiam womeft % foIg STheTad AeEH aIaH % TR 2
Optimum intermediate temperature for cascade refrigeration system is equal to
@  V(Thigh x Tiow) (®)  V(Trigh— Tiow)

(c)  (Thigh/ Tiow) (d)  (Thigh + Tiow)/2

6 704 TE(RAC)



21

28.

29.

30.

31.

32.

a1y % Sfd 3¢ W # Ay B wEn B Fan §

Mass of water vapour per unit volume of air is called
(a) faftre Tt / Specific humidity (b) @mfE Tt / Relative humidity
(c) ditgg =t / Absolute humidity (d) =t / Humidity

I G T 59 % i 3 forg, Frefafea § @ Si-an s wd 2
Which of the following statements is true for vaporization of a liquid by evaporation
(a) % %Id g9 I g WA 2 / '
It occurs only at the surface of liquid
(b) ¥® 3F AN W B FHAT < FHIH amoHE /

It can occur at liquid temperature < saturation temperature
(c) 9 ga AH wedt  / It results in reduction of liquid temperature

(d) 3HIE |t / All of the above

T Feares e (COP) &

The relative coefficient of performance (COP) is
(a) arfa® COP /&gif<s COP /actual COP/theoretical COP

(b) FgI=F COP /arfesh COP / theoretical COP/actual COP
(c) 1-=ar&fa® COP x #gif=% COP / 1-actual COP x theoretical COP
(d) 1- &g1<% COP x arfes COP / 1- theoretical COP x actual COP

T wrfied wsfhet #, witasw 6 ffd, dqw o 2

In vapor compression cycle, the condition of refrigerant is saturated liquid

(@) %o e area #F F TSR F WG / after passing through the expansion throttle valve
(b) wdiesh & 59w & B/ before entering the compressor

(c) ®uf # & T9W % 91G / after passing through the condenser

(d) wufel § & R & TR / before passing through the condenser

e Wfiae w1 COP 2

The COP of a domestic refrigerator is

(@ >1 b <1

© =1 (d) K T / any value
ASHRAE , RH w7 Rreerfar s 21

ASHRAE recommends RH value to be

(@ <30% (b) 30-60%

©) 50-70% @  70-90%
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33.

34.

35,

36.

37.

38.

39.

= 3 @ i-T FoF T\ 77

Which of the following statements is right?

(a) =% = Tl @ <SS faiRe 1/ Specific heat of lee < Specific heat of water

(b) =% =1 fafire @ > w@ w1 fafire @ / Specific heat of Ice > Specific heat of water

(c) e %1 fafire ara <arsT =1 faf¥re A / Specific heat of water < Specific heat of steam
(d) =% % fafkre qra =ared A fafkwe 9/ Specific heat of Ice = Specific heat of steam

DBT &t WBT % #ed 3iat i Fad &

The difference between DBT and WBT is called

(a) et aEH / effective temperature (b) g e f&S™H / dry bulb depression
(c) i@ &M / dew point depression (d) 32 wes fEmm / wet bulb depression

30°cwwﬁﬁn§a%1ﬁaﬁaﬂﬁmwhﬁ-8°cmr@1m%|ﬁzﬁa@rﬁ%ﬁmzwkwﬁ
ST & 3R T I arfas® COP e COP % 0.3 T §| ST %I itie COP #4172

Cold storage plant maintains the vegetables, supplied at 30°C, at —8°C. If the plant requires 210kW
to drive it and the actual COP of the plant is 0.3 times the Carnot COP, what is Carnot COP of the
plant?

(a) 6.97 (b) 0.21
© 2.1 @ 1
o1y Wit e FT 8

Air refrigerator works on

(a) Y=hred @rsfRA W/ Rankine cycle (b) it "sfera / Carnot cycle

(c) e TTEfhRa W/ Brayton cycle (d) SWhAFFETE /none of the above
fr= & Forw weftass # freraw 9T 27

Which of the following refrigerant has the lowest boiling point?

(a) EA-gE-NTaETgs / Carbon dioxide (b) ™ -12/Freon-12

(¢) smf¥er / Ammonia (d) Tew-eE-arss / Sulphur dioxide
weftam ot 3 SR geT BT =Ry

Highest pressure in a refrigeration system should be

(a) ifae gaT@ % {9/ near critical pressure

(b) shifceh gaTal 3 sigd HX / much above critical pressure

(c) wfiaeh 1 sHife g / critical pressure of refrigerant

(d) it g @ wgd A= / much below critical pressure

wftee TTgiehet  u-3ftder

The sub-cooling in a refrigeration cycle

(@ C.O.P. sl % /Increases C.O.P. (b) C.O.P. werd! & /Decreases C.O.P.
(c) C.OP.smfaffa /No changein COP. (d) i< &sier T&f / No relation
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40.

41.

42.

43.

45.

46.

frfofed & & #i9-1 CFC wefias 27
Which one of the following is a CFC refrigerant?

(@) R718 (b) R290
(c) RS502 (d) R744
e grespidie =1 39 % 19T § Bt )

Sling psychrometer is used to measure
(@) 313 3R 92 979 & T9HH / dry and wet bulb temperature

(b) e I2 Sew A9AH / only wet bulb temperature
(c) el 5 9 AWM / only dry bulb temperature
(d) @i T relative humidity

R, g # Tt R e A vl e
Humidification is the process of addition of moisture in ajr at
(@) TR 70 S / constant latent heat

(b) TR 32 5o AHH / constant wet bulb temperature

(c) TR g5 o9 aW@E / constant dry bulb temperature

(d) 390w & & = 7 / none of the above

AIHH Al S| g AT 27

What is the SI unit of temperature?

@@ °C ® K
(© °F @ w
0°CWR &% % HerH i [0 FHe KJ/kg
Latent heat of fusion of ice at 0°C is KJ/kg.

(@ 335000 (b) 2257000

(c) 335 d) 2257

seftaq 6t COP 37§ = 27

What is the unit of COP of refrigeration?

(@ W ®) J

) K (d) STEF F FE 7 / None of the above
rfofe & & % @1 wum v 27

Which of the following statements is correct?

(2) weftes i COP &Azm <18 /COP of refrigeration is always <1
(b) == 9= i COP 8w <1 &/ COP of heat pump is always <1
(c) <A1 gFq it COP &3 >1 & / COP of heat pump is always >1
(d) 3SwEF ¥ S T / None of the above

9 704 TE(RAC)



47.

48.

49.

50.

1.

52.

33.

AT SR F SRS ¥ SO WYY a1y e Jomel §

Air cooling system mostly used in transport type aircraft is

(@) @R Arg Yided Joredt / Simple air cooling system

(b)  TTERT AT 1Y ST yurret / Simple evaporation air cooling system
(c) wg&Y Iy sfae Yol / Bootstrap air cooling system

(d) I i T/ None of the above

IRe ¥ gug § T e e

Work done during throttling is

(a) Sear fmam S wehaT @ / Reversible (b)
(¢) (a) = (b)3Hi /Both (a) and (b) (d)

157 TS Wi 1 COP, sy grdfied Wi @

I 2 / Zero
39 o & wis 781 / None of the above

2l

The COP of a vapor absorption plant is

(@) 3% /more than (b)
(¢) " /lessthan (d)
e wg & wefias &

Freon group of refrigerants are
(a) waoEftd /Flammable

(b) f¥a /Toxic

that of a vapor compression plant.

% A / same as
gl T81 S "ehat / unpredictable

(¢) ™ sawmsfia 3t f3% / Non flammable and Toxic
(d) T feden ot i ss@efe / Nontoxic and Non flammable

T Tita st §, eiiah o s w1 frE

g =T 2|

In a refrigeration cycle, the flow of refrigerant is controlled by

(a) w=fte® / Compressor (b) wwrfer/ Condenser

(c) ama / Evaporator (d) foramwer are= / Expansion valve
T ShiTdeh HisT-SI5-AFIES i ot =1 ST R

Super critical carbon dioxide is also known as

@ R22 (b) RI125

© R744 @ R822

wiasE % 5 a0 & HROT, THAY e 3 A &five g

Ozone depletion in stratosphere is due to which element in the refrigerant

(a) ¥EeA / Hydrogen (b)
() @@/ Chlorine )
10

%@l / Fluorine

A / Carbon

704 TE(RAC)



54. e Igawr (multistage) el & S S=rElide 1 3980 B, @ 97
If water intercooling is used in a multistage compression, it will
(a) ftaer o fafdre e =t ser /

Increase the specific volume of the refrigerant
(b) = @@ grfisT # ford SAaTet S =t gemT /

Reduce the work to be done in high pressure compressor
(c) TR Wik I Tt $ Tavagsar arft / Require a higher stoke volume compression
(d) 39® F § =€ T / None of the above

55. Tk SR WOt B

An electrolux refrigerator is a

(a) o7 wedfieT weftdsh / Vapour compression refrigerator

(b) =TS9 SfaNtyer i, form et 9 % / Vapor absorption refrigerator without any pump
(c) %3 9P % WY ITOY NIV WNfiaw / Vapor absorption refrigerator with a liquid pump
(d) 39U ® ¥ SIS 7@ / None of the above

56. Tora weftash =T shig 4T die &
Yellow is the colour code for which refrigerant
(a) R402A (b) R500
(c) R503 d) RI134A

57. Swmfds =9 d, T o # Y 1-2, fra wlren =1 oas 27
In psychometric chart, line 1-2 in the following figure represents which process?

;
E
2 2
&
i
1
" Dry Bulb Temparature ..
(a) %grW Hgfr / Adiabatic saturation (b) 3fe@ @ / Sensible Heating
T (c) TRl / Dehumidification (d) a9 3R g / Heating and humidification

58. = vt e i o AR a3
Typical brine used in Ice plant industry is

(a) Wifiel= Tershia / Propylene glycol (b) ifezm FARIES / Sodium Chloride
(c) ey gE / Calcium chloride (d) vfeia T@geia / Ethylene Glycol

A 11 704 TE(RAC)



59.

60.

61.

62.

63.

64.

Tefies 1 FE e —— %1 I 7l
Clearance factor of a compressor is the ratio of
(2) e ¥ e a9 T @ 1/ Clearance volume to the swept volume of cylinder

(b) e % fFRetE smmad 9 $ a1 / Clearance volume to the total volume of cylinder
() e % el I T ey e / Total volume of cylinder to clearance volume
(d) SeF % W ARG U FA AT A / Swept volume of cylinder to total volume of cylinder

R22 =1 WEf¥H T 2

Chemical name of R22 is

() ArEERERFER Hi9 / Monochlorodifluoro methane

(b) STsFAREF H99 / Dichloromonofluoro methane

(c) erFRIEERR H2q / Dichlorodifluoro methane

(d) rEFRREEGER e / Trichloromonofluoro methane

et wehfier somett 3 fore e o g st % & 91 B 2
The tubes of a shell and tube condenser for ammonia refrigerator system are made of
(a) wa /Steel (b) rgEtEd / Aluminum

(c) diaa /Brass (d) dtsm / Copper

efie 3 SR o oTva WG Y 39 SR Sifirea R S

Horse power per ton of refrigeration is expressed as

() 4.75x COP (b) COP/4.T5

() 4.75/COP @ COP

22 o o v H, Tge i # wfieers R A

The human body in a cooled space constitutes cooling load of

(a) e 3fua = / Sensible heat only

(b) = W FoAT / Latent heat only

(c) 3@ 3 W FoA / Sensible heat and Latent heat
(d) 3IWre® A =5 T8 / None of the above

Hes 9T &

Reynolds number is

(a) iscd s IR Ferafwn et 1 g /

Ratio of inertia force to viscous force

(b) SccirEsd g A fuf s w1 g/

Ratio of buoyancy force to viscous force

(c) HeEHt SR STeThdT AT SAMIRY h1 A /

Ratio of convective to conductive heat transfer
(d) @ F wriaRa $ T SO AR A H FwT & w1 A /
- Ratio of heat transferred into a fluid to the thermal capacity of fluid

12 704 TE(RAC)



65.

66.

67.

68.

69.

U Ui & w1 w1 figea &= 87

What is the principle of operation of a thermister?

(a) @ faurg Sl % it sl aroe forga o S #r B / Differential temperature across two
bimetallic junctions produces electric current

(b) @M ¥ iEda % gRomTEEy fEerg 9 % g1 / Change in temperature results in bending of
bi-metallic element

(c) AHH H gftEdd % RO Hagh hl Fiokigerar & uftads / Change in temperature causes change in
resistance of sensor

(d) 718 % qEE § 9REda % HROT 36 A § afeda / Change in temperature of gas results in
change in its volume

Frafafea & @+ =t offeufy, o wefias § it wes =)l = awa 27

Which of the following conditions can cause activation of overload protector in a refrigerator?
(a) 3= 999 g9 /High suction pressure ~ (b) 3= dieest / High voltage

(c) =@ /High load (d) 3w @t / All of the above

T =0 gefies ©ies o

A good compressor lubricating oil should

(a) =i & iz @41 =T / Be immiscible with gases
(b) Tt s7avive B =feT / Have moisture absorption

(c) T femie B+t =1fdw / Have low freezing point
(d) wga = feufemse @+ =feT / Very low viscosity

AN A &vF R Hifgae Nerhia % SR FeieTse B arar, fefifea 3 & #i-a1 weias 27

Which of the following refrigerants are phased-out due to Montreal protocol on ozone layer
depletion?

(@ RIl (b) R22
(¢) Rl34a (d) 3w @ft /all of above
weftas R 503, T 2l

Refrigerant R 503 is a

(a) el Fe yefiae / Halo carbon refrigerant
(b) =RrIET wefias / Azeotrope refrigerant
(c) S Wftas / Inorganic refrigerant

(d) grwea wftas / Hydrocarbon refrigerant

13 704 TE(RAC)



70.

71.

72.

73.

74.

5.

ﬁ@ﬁ%aﬁm,’@n%&mqﬁmﬁm%@ CARS e

Constant specific humidity ratio line on psychometric chart represents
(a) ¥ TgH / Adiabatic saturation
(b) 3fe@ e / Sensible heating

(c) < w1 e / Mixing of two streams
(d) 3T § ¥ =I5 7& / None of the above

HieHiTe ared A HM FT 2

Solenoid valve is operated

(a) Toma & /Electrically (b) Bge@ w9 @ /Manually

(c) T4 e @ /By gas pressure (d) ¥EE @@ ¥ /By hydro pressure

a7 gefte SN SuTel) S H-|T ek, T e fRR T §Y

Which component of vapour compression refrigeration system, the enthalpy remains constant?

(a) a9 /Evaporator (b) Sl A / Throttle valve
(c) wwdtg® / Compressor (d) S d ¥ S TE / None of the above
Ieel HIGIC AIEhhet | BId &

Reverse Carnot cycle consists of

(a) <o YErfe i 2 awardt wiFard / Two isochoric and two isothermal processes
(b) o Y@ i &) wwardt sfFaTd / Two isentropic and two isothermal processes
() @ TR i 3 wmardt g / Two polytropic and two isothermal processes
@) < Y@= i 3 Wt shEd / Two isentropic and two isochoric processes

T Bzt THata % SO 2

One micro vacuum is equal to

(a 0.1mmHg (b) 0.01 mm Hg
(¢) 0.001 mm Hg (d 0.000lmm Hg
a1 e el 919 § FqH gar 8 7

When air is saturated with water vapour?

(a) DBT/WBT=1 (b)) DBT/WBT>1
(c) DBT/WBT<1 (d DBI/WBT=w

14 704 TE(RAC)



